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    *. ==2           67                =(67$: .20387(52:< $&7,1$ 35,0( :521$ 3$8/,1$                       
    *. ==2           67                =(67$: 021,725  7(/(:,=25 '2 .$0(5                       

   
*. ==2          67               

381.7 6(/.7<:1(- =%,Ï5., 2'3$'Ï: 
.2081$/1<&+                                    

        V]W   SRMHPQLNL     O                           
    ĝURGNL WUZDáH Z EXGRZLH                           

UD]HP              ]á   
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  *. ==2           :1L3            /,&(1&-$ 1$ 352*5$0 ($6< 36=2.                       

 
*. ==2          :1,3           

352*5$0 '2 :<'58.Ï: .2'Ï: .5(6.2:<&+ 1$ 
:25.,                       

 
*. ==2          :1L3           

352*5$0 7$&+2 63((' 67$57 52=6=(5=(1,( 2   
67$12:                       

 
*. ==2           :1L3           

7$&+263((' 08/7, '2'$7.2:( 67$12:,6.2 
.20387(52:(                       
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OS  NRG QXPHU
NZRWD GR 
UR]OLF]HQLD

F]ĊĞü 
NUyWNRWHUPLQRZD

F]ĊĞü 
GáXJRWHUPLQRZD

  NRQWR                 ]á                 ]á        
  NRQWR                ]á                 ]á        
  NRQWR                 ]á                ]á      
  NRQWR                 ]á                ]á      
  NRQWR                ]á                 ]á        
  NRQWR                  ]á               ]á               ]á       

UD]HP            ]á               ]á       

  NRQWR                ]á              ]á                  ]á     5R]OLF]HQLH EXGRZ\ 36=2.

2GUROQLHQLH
3RGDWHN RG QLHUXFKRPRĞFL
8EH]SLHF]HQLD NRPXQLNDF\MQH
3RGDWHN RG ĞURGNyZ WUDQVSRUWX
/HDVLQJ

3$6<:$

*ZDUDQFMH XEH]SLHF]HQLRZH
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        :RUNL           ]á                         ]á 

        3DOLZR   G\VWU\EXWRU          ]á                            ]á 

        2OHM    :         ]á                                   ]á 

        2OHM   :          ]á                                ]á 

        $G%OXH          ]á                            ]á 

        3á\Q GR VSU\VNLZDF]\        ]á                                ]á 

        (NRNXEHN           ]á                         ]á 

            3URGXNFMD QLH]DNRĔF]RQD            ]á               ]á      

           $XWRSD\           ]á                ]á        

UD]HP            ]á      
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            *. %2*8&+:$à$ 63 =2 2                   
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            0$; )+8 $ %DQDĞ              
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             %REHU *UDĪ\QD  %2%5(;               
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             *PLQD /XEHQLD                  
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             )8+  'RPLQR  /HVáDZ 'RPLQ            

             3,(.$51,$ &8.,(51,$ (OĪELHWD 'RPLQ              

             3RF]WD 3ROVND 6 $  2ĞURGHN ,QIUDVWUXNWXU\ Z .UDNRZLH                  

             33+8  (5*3(7  6S  ] R R                       

             3U]HGVLĊELRUVWZR +DQGORZR 8VáXJRZR 3URGXNF\MQH .8675$ 6 &  0  0QLFK 1RZDN  5 1RZDN              

             6HUZLV 6DPRFKRGRZ\  0(&+$1,;  0DUFLQ %DWRU            

              6NOHS 6SRĪ\ZF]R   3U]HP\VáRZ\ 5REHUW 3LF]DN              

              6NOHS 6SRĪ\ZF]R 3U]HP\VáRZ\ 5]ąVD 7RPDV]              

              6NOHS 6SRĪ\ZF]R 3U]HP\VáRZ\ 0DULXV] ĝOąF]ND              

              6NOHS :LHOREUDQĪRZ\ 'UHZQLDN 0DULD            

              6SyáG]LHOQLD .yáHN 5ROQLF]\FK Z %áDĪRZHM              

              ),50$  7$5$  -y]HI 6ROHFNL              

              =DNáDG 8VáXJ %XGRZODQR 7UDQVSRUWRZ\FK 5RPDQ 0D]XU              

              =$.à$' 86à8*2:2 352'8.&<-1< :2ħ1,$. 7$'(86=            

              $*520$ 6S  ] R R             

              *0,1$ 0,(-6.$ '<1Ï:              

              3U]HGVLĊELRUVWZR %XGRZODQH 67$/0267 6S  ] R R               

              2NUĊJRZD 6SyáG]LHOQLD 0OHF]DUVND -DVLHQLFD 5RVLHOQD                  

              $SWHND 3U\ZDWQD  0(/,6$  0DJGDOHQD .ZLHFLHĔ              

              (/0$5 .$51$6 $11$              

              3 + 8   ,16%8'  5]ąVD $QGU]HM            

              )LUPD 3URGXNF\MQR 8VáXJRZR +DQGORZD  67$5< %$1.  $QGU]HM &KOHEHN              

              5(021',6 6S  ] R R               

              '$5:,.$ '$5,86= 3$/&=(:6.,            
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              *5(1$ )+8 3ĉ&.$ (/ĩ%,(7$            

              6NOHS 6SRĪ\ZF]R 3U]HP\VáRZ\  /,'(5  5HQDWD 'RPRĔ              

              5HNRSRO 2UJDQL]DFMD 2G]\VNX 2SDNRZDĔ 6 $                   

              338+  'UHZQR 7UDQV  %DWRU 6WDQLVáDZ              

              %8'52/3+8 520$1 &8'2  (:$ &8'2 63 -               

              =HVSyá 2SLHNL =GURZRWQHM QU   Z 5]HV]RZLH                    

              3*( '<675<%8&-$ 6 $  2GG]LDá =DPRĞü            

                 :RMVNRZ\ 2GG]LDá *RVSRGDUF]\ Z 5]HV]RZLH                    

              35=('6,ĉ%,2567:2 +$1'/2:2 86à8*2:(  /2.Ą.  .Ą.2/ %2*80,à$            

              6./(3 = $57  0(7$/2:<0, /,7:,1 ='=,6à$:            

              (852&203/(; 758&.6 6S  ] R R                   

              0X]HXP =DPHN Z àDĔFXFLH                  

              =DNáDG 3LHNDUVNR   &XNLHUQLF]\  X '86=<  V F  : -  : 'XV]D              

             
),50$  352-(.7  86à8*, 352-(.72:( $'$37$&-$ 352-(.7Ï: *272:<&+ 3,275 
0$&,2à(.            

              $/(.6$1'5,$ 'RP :HVHOQ\   5HVWDXUDFMD 6 &  $OLFMD  +HQU\N  'DQLHO +DGDP              

              %(:$ 6 &  =  %LHOHF  (  -DQG]LĞ              

              3U]HZRUVND *RVSRGDUND .RPXQDOQD 6S  ] R R                   

              6,%(/&2 *5((1 62/87,216 32/$1' 63Ïà.$ $.&<-1$                    

              3DUDILD 5]\PVNRNDWROLFND S  Z  =QDOH]LHQLD .U]\ĪD Z 1LHE\OFX              

              ),50$  48((1  5HQDWD L 5REHUW .RĞFLyáHN                  

              (NR*áRJ VS  ] R R                   

              35=('6,ĉ%,2567:2 +$1'/2:2 86à8*2:( 6Ï:.$ 52%(57  6Ï: 32/                   

              3UH]]R 6SyáND ] RJUDQLF]RQą RGSRZLHG]LDOQRĞFLą VSyáND NRPDQG\WRZD                  

              0(7.20 6S  ] R R                     

              6NOHS :LHOREUDQĪRZ\  %RJGDQ %RĪHN              

              =DNáDG *RVSRGDUNL .RPXQDOQHM 6SyáND ] R R  Z .DĔF]XG]H                    

              $6%LNH *U]HJRU] $QWRQLN            

              )LUPD +DQGORZR 8VáXJRZD  '0*  0DJGDOHQD 2VHV 3LHWUXFKD                  

              6$/21 )5<=-(56.,   (/$  (OĪELHWD 2FKĊGRZVND            

              =DNáDG )U\]MHUVNL $QHWD 0XV]\ĔVND          

              6NOHS 6SRĪ\ZF]R 3U]HP\VáRZ\ 'XGD $QQD            

               7UDQVSRUW 6SHG\FMD 75$16,50$ 5RPDQ 0DQGHOD            

               1=2= 3U]\FKRGQLD 0HG\F\Q\ 5RG]LQQHM Z 1LHE\OFX              

               ) + 8   0$*12/,$  6 &               

               6DORQ IU\]MHUVNL -RDQQD ']LRSDN            

               1=2= 6=.2/1$   0$à*25=$7$ .2à7              

               $JURSRO 6 &  *XG\ND :LHVáDZ L .U\VW\QD              

               .2%,3/$67 6 &  *U]HJRU] .RSDFNL  -DFHN .RSDFNL              

               0(&+$1,.$ 32-$='2:$ )$&+ &$5 3DZHá 6RENRZLF]              

               6DORQ )U\]MHUVNL  2/,9,(5   /XF\QD +DáRĔ              

               0,(-6., 2ĝ52'(. .8/785< 632578 , 5(.5($&-, : '<12:,(              

               0('0,52 6.2052 35<û 6SyáND -DZQD              

               ),50$ +$1'/2:2 86à8*2:$ 2OD =RILD 6]HOD 6./(3 : 7<&=<1,(  XO  5\QHN               

               381.7 $37(&=1< 0,(&=<6à$: .217(.            

               ) + 8   %8' 0$;  0DMGD $JQLHV]ND              

               $SWHND X *DOHQD PJU IDUP  -DGZLJD *DZURQ 'ąEURZVND            

               %$1. 63Ïà'=,(/&=< : /8%(1,            
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               3U]HGVLĊELRUVWZR :LHOREUDQĪRZH  :(17$   6S  ] R R                   
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               6$/21 )5<=-(56., / 0 /XF\QD :RáRV]\Q              

               =$.à$' )5<=-(56., 3$:(à 0$=85              

               =G]LVáDZ 6]DIUDQ &HQWUXP 0HG\F]QH '\QPHG              

               :2-(:Ï'=.$ 67$&-$ 32*272:,$ 5$781.2:(*2 : 5=(6=2:,(              

               &(17580 +,6725,, 3ROVNLFK ĩ\GyZ Z '\QRZLH                  

               3ROVND 6SyáND *D]RZQLFWZD 6S  ] R R               

               =DNáDG 3URGXNF\MQR 8VáXJRZ\  6$163257             
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               3(5)(.7 3/86 .U]\V]WRI 3DĞFLDN                  

               6NOHS 6SRĪ\ZF]R 3U]HP\VáRZ\ $QQD .UDZLHF              

               6DORQ )U\]MHUVNL 'DPVNR 0ĊVNL )U\](OOD (OĪELHWD 6PDODU]            

               6NOHS 6SRĪ\ZF]R 3U]HP\VáRZ\ /XEDV -HU]\              

               ),50$ +$1'/2:2 86à8*2:$ .5,.(5 .D]LPLHU] 0D]XU            

               )+8 -$1 0$=85              

               =DNáDG ,QVWDODWRUVWZD (OHNWU\F]QHJR 3LRWU .XELDN            

               338+ :(672 :LROHWWD .UXF]HN                  

               0LHMVNLH 3U]HGVLĊELRUVWZR *RVSRGDUNL .RPXQDOQHM 6S  ] R R                     

               =DNáDG 6WRODUVNL 58'(. 0DUHN 6LU\              

               $1,0(' .215$' &=$&+  &. %8'2:1,&7:2 .215$' &=$&+            

               8VáXJL %XGRZODQH :LHVáDZ .LHáEDVD              

               /$)$50$   -RĔF]\N L :VSyOQLF\ 6S M               

               )DEU\ND .U]HVHá -DNHU -DNXE ĝOąF]ND            

              
35=('6,ĉ%,2567:2 +$1'/2:2 86à8*2:(  +(3, 0$;  V F  +HQU\N 3LVXOD  0RQLND 
3LVXOD              

               $% '(17 3UDFRZQLD 3URWHW\NL 6WRPDWRORJLF]QHM L 2UWRGRQFML $OHNVDQGUD %RJXWD            

               $/)$50$ 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą              

               )+38 .$51$6 2*5Ï' $JQLHV]ND .DVSURZLF] .DUQDV            

               =$.à$' ,167$/$72567:$ (/(.75<&=1(*2 +(15<. +$'$0              

               7.. NRQVWUXNFMH 7RPDV] .RFyM            

               3 3 + 8   %5$0(;  6 &  %2*'$1 35ĉ'.,  %2*80,à .5=<6=72ē            

               / '  0(%/( /XFMDQ ']LRSDN            

               )LUPD 8VáXJRZR +DQGORZD  2OLZLD   =ZLHUFDQ $QQD            

               32:,$7 5=(6=2:6.,              

               6NOHS :LHOREUDQĪRZ\ +DOLQD 6]DUHN            

               ),50$ 52*$/$ 6S  ] R R                   

               3DUDILD 5]\PVNRNDWROLFND SZ 1DURG]HQLD 1DMĞZLĊWV]HM 0DU\L 3DQQ\              

               )8+ *UDĪ\QD -DQGD              

               &21.5(7 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą                    

               $33(7,72 $JQLHV]ND 3DĞNLHZLF]                  

               3 + 8 -85 0(% -(5=< .2&Ï-            

               )+8 856=8/$ .58&=(.            

               )LUPD +DQGORZR 8VáXJRZR 3URGXNF\MQD  $'5,$  $QGUHDVLN ,ZRQD              

               725,12 à8.$6= %,'$6                  

               0DQXIDNWXUD 5ĊNRG]LHáD .ZLDW\ 3ROVNLH 0DUWD .ZROHN            

               7(5* 6$              

               1,(38%/,&=1< =(63Ïà 6=.2/12  35=('6=.2/1< : 62à21&(              

               (852 (.2 6S  ] R R                   

               0$1&+(1 0DUHN .XVWUD            

               3 3 + 8  5$- .U]\V]WRI 6]RSLDN                  

               .   . %$&.7(&+1,. 6S  ] R R                   

               3$ē67:2:( *2632'$567:2 :2'1( :2'< 32/6.,(            

               75$1635=ĉ7 6S  ] R R VS N                   

               )$/$ ,ZRQD 0\V]ND              

               32/6.$ 6,(û +$1'/2:$  1$6= 6./(3  6 $                   

               +\GUR 0HW 6S  ] R R               

               %(51, %HUQDUG &]HUQLFNL                  

              
),50$ 352'8.&<-12 +$1'/2:$ :,7(. %2*'$1  :,7(. 7$'(86= 63Ïà.$ 
&<:,/1$              

               6DORQ )U\]MHUVNL  9(/9(7             

               ),50$ 352'8.&<-12 86à8*2:2 +$1'/2:$ $872 63(& 'DULXV] 7U]HĞQLRZVNL              

               )+8  ./,)  $GDP .DWD            

               )+8  0272.27(.  .RFXU .U]\V]WRI                  

               6NOHS 6SRĪ\ZF]\  6721.$  .$52/,1$ :2-(:Ï'.$              

               &LDFKR 3UDFRZQLD &XNLHUQLF]D   6HEDVWLDQ 3RWRF]Q\              

               678',2 )5<=85 $1*(/,.$ :$/$6            

               )+&   6S ] R R                   

               =DNáDG +DQGORZR 8VáXJRZR 3URGXNF\MQ\  '20,1  0DUHN 'RPLQ              

               &8'$-$*2'=,$1., $87256.$ 35$&2:1,$ &8.,(51,&=$ -$':,*$ 85%$1            

              
&$7(5,1* 0$/,12:( %$%(&=., 3U]HGVLĊELRUVWZR 6SRáHF]QH 6SyáND ] RJUDQLF]RQą 
RGSRZLHG]LDOQRĞFLą              

               ),50$ +$1'/2:2 86à8*2:$ 352 027   0DUHN *áXFKRZVNL            

               6,/9$ 6S ] R R                   

               (;'20 *DQFDU] L 6]F]HSDĔVNL 6S M               

               -,1 6+(1* 6S  ] R R              

               6DORQ )U\]MHUVNL  $IURG\WD  (ZHOLQD %LDOLF            

               = &$56 0DULXV] =LRPNRZVNL                  

               6NOHS 6SRĪ\ZF]R 3U]HP\VáRZ\ ('2 %RJXPLáD ĩXUHN                  

               %,6752 2/,:.$ (/ĩ%,(7$ 6.5ĉ7.2:6.$              

               L PHEOH HX V F             

               .2/3257(5  63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą              

               52/(.2 3/86 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą              
^ƚƌŽŶĂ ϯ ǌ ϱ



               7(;20 6S  ] R R                   

               ,038/6 6WRZDU]\V]HQLH 5R]ZRMX L 3URPRFML *PLQ\ %áDĪRZD            

               0$&,(- *8/$. 678',2 7$78$ĩ8 $57<67<&=1(*2 %UHDNLQ   ,QN              

               6WXGLR )U\]XU ,QILQLW\ (ZHOLQD 5DF]DN            

               (;758'(5 %DUWRV] 'Xü              

               52267(5 5REHUW .RJXW              

               6NOHS ]RRORJLF]Q\  6X]L  0DáJRU]DWD /HQLDUW            

               6DORQ )U\]MHUVNL -867,, -XVW\QD 3LHFK            

               .ąFLN 8URG\ VDORQ NRVPHW\F]Q\            

               3LSH7+(50 3LRWU ĝZLGHU            

               8VáXJL NRVPHW\F]QR JURRPHUVNLH 0$à*25=$7$ 0$-'$            

               .2:/$6., 2NQD L 'U]ZL 6S  ] R R 6S .               

               ) 8 + 3  *$6752 6(5:,6  6WDQLVáDZ 'UąĪHN            

               *2&+1$ *$6752 $JQLHV]ND *RFKQD              

               /(1$ 6$/21 )5<=-(56., '$06.2 0ĉ6., 0$*'$/(1$ 67$&+2:,&=            

               35(66$'2 '58. -  .8/3,ē6.$ *  %25.2:6., 63Ïà.$ -$:1$              

               *526=(. '$5,86= 1$:à2.$                  

               (.232/,0(5 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą                  

               3$70(; 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą            

               6DORQ 8URG\ 6XJDUIUHH %HDXW\ 3DXOLQD %áDKXW              

               8 7ROL 6NOHS 6SRĪ\ZF]R   3U]HP\VáRZ\ .DWDU]\QD 7U]\QD              

                9,3  3RGVWDZRZD 6WDFMD .RQWUROL 3RMD]GyZ àXNDV] 6]\QNDUXN            

               :* &$56 0HFKDQLND 6DPRFKRGRZD :2-&,(&+ *8%(51$7            

               & &211(&7 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą              

               -% 75$. -$&(. %$725              

               )LUPD +DQGORZR 8VáXJRZD ,QREXG $UWXU .áyVHN            

               :DUV]WDW 6DPRFKRGRZ\ $872 .5,6 .U]\V]WRI 6RODU]          

               =$.à$' )5<=-(56.,  *26,$  0DáJRU]DWD ĝZLĊFK            

               %581, 1DWDOLD .RWRZLF]            

               ),50$ +$1'/2:$  .$6,$  %8*$- 63Ïà.$ -$:1$              

               '$1,(/ :2-72:,&= '$1)$50 381.7 $37(&=1< 1,(%2&.2              

               &HORZ\ =ZLą]HN *PLQ  (NR /RJLF]QL                       

               ) + 8 3  %HDWD 2GyM            

               0HFKDQLND 3RMD]GRZD /HVáDZ )LOLS            

               63Ïà'=,(/1,$ 62&-$/1$  =$.5ĉ&21(               

               $.&(6 0(' 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą              

               *DELQHW SLĊNQD 7(6252 $JDWD ']LXUD            

               0. 0<6=.$ :,(6à$: 0<6=.$  *5=(*25= .5(7 63Ïà.$ &<:,/1$              

               0LURVáDZ 6HUZDWND 0$; 0(%/(            

               678',2 )5<=85 , 3$=12.&, 021,.$ 32&,$6.            

               35(=(52 %$à7<&.$ (1(5*,$ 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą              

               35$7.2 '(9(/230(17 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą              

               ) + 8  (':$5' +(66                  

               727$/,=$725 632572:< 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą              

               -$186= 3/87$ 86à8*, %8'2:/$1(            

               6LZLHF $QGU]HM              

                :,., &$56  (:(/,1$ :$6,(ē&=$.                  

               8VáXJL 3URWHW\F]QH  6NOHS VSRĪ\ZF]R SU]HP\VáRZ\ 1$7$/,$ 0,ĝ.2:,(&              

               6$17(55$ 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą                  

               63($.(5   ĝ:,$7 -ĉ=<.Ï: 2%&<&+  PJU 0DU]HQD :LDQHFND .XV\              

               35=('6,ĉ%,2567:2 :,(/2%5$1ĩ2:(  32/%8'  6=&=(3$ē6., 7$'(86=                  

               )81'$&-$ $.$'(0,$ 80,(-ĉ712ĝ&,              

               6,/9$ 32/6., 5(&<&/,1* 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą                  

               5(+ 0(',4 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą              

               $/(.6$1'5$ )('$. 0(5.$'2            

               )5,(1'6 )22' 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą                  

              
%22 25*$1,=$&-$ 2'=<6.8 23$.2:$ē , 2'32:,('=,$/12ĝ&, 352'8&(17$ 
63Ïà.$ $.&<-1$                    

               6WXGLR 8URG\ <RX $UW -XVW\QD %LHOHF            

               0,; 3$8/,1$ :5Ï%/(:6.$ 1$/(:$-&=<.            

               6WXGLR 0DVDĪX .RQUDG 0DMGD            

               )LUPD 8VáXJRZR +DQGORZD  '25$1    $QGU]HM 3U]HZRĨQLN            

               0'/ 6<67(0 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą              

               3,2758ĝ 3$1 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą                  

               75(6 (:$ %$5$1 7$5.2:6.$  $37(.$  '/$ &,(%,(             

               35=<&+2'1,$ :(7(5<1$5<-1$ -2$11$ '8&+              

               +$/5(6 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą              

               %LXUR WXU\VW\F]QH  'DUWXU  'DULXV] %LĔF]DN              

               0(%/,&+2 .5=<6=72) /,&+27$            

               ,222 3/ 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą                    

               $%%/( *5283 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą              

               3UDFRZQLD '$3 $57 0DFLHM :GRZLDN              

               6./(3 632ĩ<:&=2 35=(0<6à2:<  -$*Ï'.$  -DGZLJD :LON .RV]W\áD            

               .2à2 à2:,(&.,(  -$5=Ą%(.  %à$ĩ2:$              

               ,1.2 &2168/7,1* 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą              

               '(.2 à8&-$ 0Ą&=.$              

               0ąF]ND 'DULXV]  'RPHN OHWQLVNRZ\           

^ƚƌŽŶĂ ϰ ǌ ϱ



               6SLĪDUHQND   0DFLHM 2OHFK            

               .:,$&,$51,$ /2%(/,$ %($7$ 6,7(.  $*1,(6=.$ .5=<6=72ē 63Ïà.$ &<:,/1$              

               $QGU]HM .RZDOVNL            

               ),50$ +$1'/2:2 86à8*2:$ 6</:(67(5 -$05Ï=            

              
3$:(à 3$172à 35(6&203 .20387(5< 32'=(632à< $.&(625,$ 
2352*5$02:$1,(            

               3LRWU :RĨQLDN :20(&+            

               &DU :DVK $QGU]HM 6LHĔNR            

               (/ĩ%,(7$ .$0,ē6.$              

               ħUyGHáNR *UDĪ\QD %DELDU]            

               %87,. 3DWND 3DWU\FMD 6]RVWHN            

               1$785$/ 6+,1( ./$8',$ 3/(ĝ1,$.            

               $EGXOFDUV 3DWU\N &KRFKUHN            

               $0 0HEOH $UWXU 6HE]GD            

               '2527$ :,$75 1,(=à< 3/$&(.            

               .5,.(5 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą              

               'DQLHO +DOLĪDN +' 7HFK                  

              
52660$11 683(50$5.(7< '52*(5<-1( 32/6.$ 63Ïà.$  = 2*5$1,&=21Ą 
2'32:,('=,$/12ĝ&,Ą              

               81,48( %' 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą              

               %,852 5$&+81.2:(  *5$ĩ<1$  *5$ĩ<1$ '5Ąĩ(.            

               /. 32/$1' .8675$ 63Ïà.$ .20$1'<72:$              

              
35$&2:1,$ 3527(7<&=1$ 0$à*25=$7$ :à2'$5&=<. 3$='$1  &(1758 7(5$3,, 
3,-$:.$0,              

               :,16 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą            

               1(56(1 3/ 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą              

               1(:.20 (.2 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą                  

               6NOHS VSRĪ\ZF]R SU]HP\VáRZ\ 0DáJRU]DWD /XEDV            

               6HEDVWLDQ %REROD                  

               /2'< :8-$ 0$5,$1$   .U]\V]WRI %DELDN              

               86à8*, 75$1632572:( 0$5=(1$ :ĉ./$5                  

               /%HDXW\ /LGLD %XGQLN            

               :63Ï/127$ 0,(6=.$1,2:$ 5<1(.   '<1Ï:          

               6DUQLFND :HURQLND                  

               )LUPD +DQGORZR   8VáXJRZR  3URGXNF\MQD 2SLRáD %URQLVáDZ            

               0$128 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą              

               )+8  $0(7<67  .$52/,1$ &,Ą*à2 *$%,1(7 .260(72/2*,,            

               3DUDGRZVNL 3DZHá              

               6NOHS VSRĪ\ZF]R SU]HP\VáRZ\ %RĪHQD 'RPLQ              

               $6(2 5(&<./,1* 6<67(0 63Ïà.$ = 2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą                    

              *0,1$ %à$ĩ2:$                    

             *HQHUDOQD '\UHNFMD 'UyJ .UDMRZ\FK L $XWRVWUDG 9,$72//                  

             232/75$16 63 =2 2                   

                  8U]ąG 0DUV]DáNRZVNL :RMHZyG]WZD 3RGNDUSDFNLHJR                    

               )LUPD +DQGORZR 8VáXJRZR 7UDQVSRUWRZD 7RPDV] .R]GUDĞ              

               6LHü 3DUNyZ (QHUJLL 6áRQHF]QHM 6S  ] R R                  
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   %DQN 6SyáG]LHOF]\ Z %áDĪRZHM    ==2 *%          ==2 *+     

   %REHU *UDĪ\QD  %2%5(;     ==2 *%     

  
)LUPD +DQGORZR  8VáXJRZR 3URGXNF\MQD  %5<' 
0(%/(  7DGHXV] L =ELJQLHZ %U\GDN    ==2 *%     

  
&$5,7$6 $UFKLGLHFH]ML 3U]HP\VNLHM 'RP 6SRNRMQHM 
6WDURĞFL LP  -DQD ] 'XNOL   ==2 *%     

   3URPHGLFD &HQWUXP 0HG\F]QH 6S  ] R R     ==2 *%     

   ) + 8    20,&521  6áDZRPLU *LHáEDJD   ==2 *+     

  
'20 32*2'1(- 67$52ĝ&, LP ĞZ  %5$7$ 
$/%$(57$    ==2 0'     

   (/()$17 38+ %DUDQ )UDQFLV]HN    ==2 *%     

   ) + 8   (852  $QQD 3OHĞQLDN    ==2 *%     

   )+ :LROD %\VLHN 0LURVáDZ   *. ==2     

   )LUPD +DQGORZR 8VáXJRZD 0DUHN 5\END     ==2 0'     

   5ROHNR 6S  ] R R     ==2 *%     

   *PLQD &KPLHOQLN 8PRZD QU           

   *PLQD &]XGHF

   *PLQD '\QyZ
  ==2 *'         ==2 *'       
  ==2 *'          ==2 *'       

   *PLQD +\ĪQH
  ==2 *+          ==2 *+       
   ==2 *+          ==2 *+       

   *PLQD ,ZLHU]\FH
  ==2 *,         ==2 *,         ==2 *,       
  ==2 *,         ==2 *,          ==2 *,     

   *PLQD /XEHQLD
  ==2 */          ==2 */       
   ==2 */          ==2 */       

   *PLQD 1LHE\OHF
  ==2 *1         ==2 *1       
  ==2 *1          ==2 *1       

   *PLQD 7\F]\Q
   ==2 *7          ==2 *7       
   ==2 *7     

   *PLQQ\ 2ĞURGHN .XOWXU\ Z /XEHQL   ==2 */     

  
*0,11$ 63Ïà'=,(/1,$  6$023202& 
&+à236.$  '<1Ï:   *. ==2     

   *PLQQD 6SyáG]LHOQLD 6DPRSRPRF &KáRSVND Z /XEHQL   ==2 */     

  
*0,11$ 63Ïà'=,(/1,$ +$1'/2:2 
352'8.&<-1$ Z %áDĪRZHM

   ==2 *%          ==2 *%       
   ==2 *%     

   ./,0$ .UXF]HN -  :RĨQLDN 7  6SyáND -DZQD    ==2 *%     

   33+8 /(0$52 5REHUW =HPEURĔ   /HVáDZ 7áXF]HN    ==2 */     

   /XGRZ\ .OXE 6SRUWRZ\   +HUPDQ +HUPDQ     ==2 *7     

  
6NOHS 6SRĪ\ZF]R 3U]HP\VáRZ\ 0$0%$ .U\VW\QD 
.LHáEDVD    ==2 */     

   0LHMVNLH 3U]HGVLĊELRUVWZR *RVSRGDUNL .RPXQDOQHM   
5]HV]yZ 6SyáND ] RJUDQLF]RQą RGSRZLHG]LDOQRĞFLą

8PRZD ]DZDUWD Z GQLX            ] SyĨQLHMV]\PL 
]PLDQDPL

   0RHVFKOH 32/6.$ 6S  ] R R     ==2 0'     

  
),50$ +$1'/2:2 86à8*2:$  025)(86=  
%2*'$1 32'*Ï56.,    ==2 0'     

   1DGOHĞQLFWZR '\QyZ    ==2 0'     

   6SyáG]LHOQLD 7HOHNRPXQLNDF\MQD 267   ==2 *7     

   )8+  'RPLQR  /HVáDZ 'RPLQ    ==2 0'     

   3,(.$51,$ &8.,(51,$ (OĪELHWD 'RPLQ    ==2 *'     

   3RF]WD 3ROVND 6 $  2ĞURGHN ,QIUDVWUXNWXU\ Z .UDNRZLH    ==2 */     

   33+8  (5*3(7  6S  ] R R 

  
3U]HGVLĊELRUVWZR +DQGORZR 8VáXJRZR 3URGXNF\MQH 
.8675$ 6 &  0  0QLFK 1RZDN  5 1RZDN    ==2 0'     

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8VáXJD ĞZLDGF]RQD QD SRGVWDZLH FRPLHVLĊF]Q\FK ]DS\WDĔ RIHUWRZ\FK
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD WUDQVSRUW RGSDGyZ ] WHUHQX =DNáDGX *RVSRGDUNL 
2GSDGDPL SU]\ XO  &LHSáRZQLF]HM    Z 5]HV]RZLH GR PLHMVFD 

]DJRVSRGDURZDQLD RGSDGyZ
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD G\VWU\EXFMĊ ZRUNyZ QD RGSDG\ L VXURZFH ZWyUQH
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD G\VWU\EXFMĊ ZRUNyZ QD RGSDG\ L VXURZFH ZWyUQH
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL
8PRZD QD RGELyU L ]DJRVSRGDURZDQLH RGSDGyZ NRPXQDOQ\FK 

GRVWDUF]RQ\FK SU]H] PLHV]NDĔFyZ *PLQ\ &KPLHOQLN GR 36=2.

8PRZD QD WUDQVSRUW
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

^ƚƌŽŶĂ Ϯ ǌ ϭϬ



   6HUZLV 6DPRFKRGRZ\  0(&+$1,;  0DUFLQ %DWRU    ==2 *%     

   6NOHS 6SRĪ\ZF]R   3U]HP\VáRZ\ 5REHUW 3LF]DN   ==2 *,     

    6NOHS 6SRĪ\ZF]R 3U]HP\VáRZ\ 5]ąVD 7RPDV]   ==2 *%     

    6NOHS 6SRĪ\ZF]R 3U]HP\VáRZ\ 0DULXV] ĝOąF]ND   ==2 *'     

    6NOHS :LHOREUDQĪRZ\ 'UHZQLDN 0DULD    ==2 *%     

    6SyáG]LHOQLD .yáHN 5ROQLF]\FK Z %áDĪRZHM    ==2 *%     

    ),50$  7$5$  -y]HI 6ROHFNL    ==2 */     

    =DNáDG 8VáXJ %XGRZODQR 7UDQVSRUWRZ\FK 5RPDQ 0D]XU    ==2 *%     

   
=$.à$' 86à8*2:2 352'8.&<-1< :2ħ1,$. 
7$'(86=   ==2 *%     

    $*520$ 6S  ] R R     ==2 0'     

    *0,1$ 0,(-6.$ '<1Ï:
   ==2 0'          ==2 0'       
   ==2 0'          ==2 0'       

    3U]HGVLĊELRUVWZR %XGRZODQH 67$/0267 6S  ] R R     ==2 *%     

    2NUĊJRZD 6SyáG]LHOQLD 0OHF]DUVND -DVLHQLFD 5RVLHOQD    ==2 0'     

    $SWHND 3U\ZDWQD  0(/,6$  0DJGDOHQD .ZLHFLHĔ   ==2 *%     

    (/0$5 .$51$6 $11$   ==2 *%     

    3 + 8   ,16%8'  5]ąVD $QGU]HM    ==2 *%     

   
)LUPD 3URGXNF\MQR 8VáXJRZR +DQGORZD  67$5< 
%$1.  $QGU]HM &KOHEHN    ==2 *%     

    5(021',6 6S  ] R R     ==2 0'     

    '$5:,.$ '$5,86= 3$/&=(:6.,    ==2 *%     

    *5(1$ )+8 3ĉ&.$ (/ĩ%,(7$    ==2 *%     

    6NOHS 6SRĪ\ZF]R 3U]HP\VáRZ\  /,'(5  5HQDWD 'RPRĔ   ==2 */     

    5HNRSRO 2UJDQL]DFMD 2G]\VNX 2SDNRZDĔ 6 $ 
8PRZD ] GQLD           ZUD] ] SyĨQLHMV]\PL 
]PLDQDPL

    338+  'UHZQR 7UDQV  %DWRU 6WDQLVáDZ    ==2 *%     

    %8'52/3+8 520$1 &8'2  (:$ &8'2 63 -     ==2 *+     

    =HVSyá 2SLHNL =GURZRWQHM QU   Z 5]HV]RZLH   ==2     

    3*( '<675<%8&-$ 6 $  2GG]LDá =DPRĞü    ==2 0'     

       :RMVNRZ\ 2GG]LDá *RVSRGDUF]\ Z 5]HV]RZLH
8PRZD QU           8PRZD QU         8PRZD QU 
        

   
35=('6,ĉ%,2567:2 +$1'/2:2 86à8*2:( 
 /2.Ą.  .Ą.2/ %2*80,à$    ==2 *1     

    6./(3 = $57  0(7$/2:<0, /,7:,1 ='=,6à$:    ==2 *+     

    (852&203/(; 758&.6 6S  ] R R     ==2 *,     

    0X]HXP =DPHN Z àDĔFXFLH   ==2     

   
=DNáDG 3LHNDUVNR   &XNLHUQLF]\  X '86=<  V F  : -  
: 'XV]D

   ==2 *+     

   
),50$  352-(.7  86à8*, 352-(.72:( 
$'$37$&-$ 352-(.7Ï: *272:<&+ 3,275     ==2 *1     

   
$/(.6$1'5,$ 'RP :HVHOQ\   5HVWDXUDFMD 6 &  
$OLFMD  +HQU\N  'DQLHO +DGDP   ==2 0'     

    %(:$ 6 &  =  %LHOHF  (  -DQG]LĞ    ==2 *'     

    3U]HZRUVND *RVSRGDUND .RPXQDOQD 6S  ] R R 

   
6,%(/&2 *5((1 62/87,216 32/$1' 63Ïà.$ 
$.&<-1$

   
3DUDILD 5]\PVNRNDWROLFND S  Z  =QDOH]LHQLD .U]\ĪD Z 
1LHE\OFX   ==2 &0     

    ),50$  48((1  5HQDWD L 5REHUW .RĞFLyáHN    ==2 *7     

    (NR*áRJ VS  ] R R    ==2      ] SyĨQLHMV]\PL ]PLDQDPL

   
35=('6,ĉ%,2567:2 +$1'/2:2 86à8*2:( 
6Ï:.$ 52%(57  6Ï: 32/    *. ==2     

   
3UH]]R 6SyáND ] RJUDQLF]RQą RGSRZLHG]LDOQRĞFLą VSyáND 
NRPDQG\WRZD    ==2 *%     

    0(7.20 6S  ] R R 

8PRZD QD RGELyU RGSDGyZ FPHQWDUQ\FK
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL
8PRZD QD WUDQVSRUW RGSDGyZ ] WHUHQX ED]\ WUDQVSRUWRZHM GRVWDZF\ 

GR PLHMVFD ]DJRVSRGDURZDQLD RGSDGyZ

8PRZD QD G\VWU\EXFMĊ ZRUNyZ QD RGSDG\ L VXURZFH ZWyUQH
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD WUDQVSRUW

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD WUDQVSRUW

8VáXJD ĞZLDGF]RQD QD SRGVWDZLH ]DS\WDĔ RIHUWRZ\FK

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK ] RELHNWyZ 
]ORNDOL]RZDQ\FK Z UHMRQLH G]LDáDQLD    :2* 5]HV]yZ

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD SR]\VNLZDQLH  SU]HND]\ZDQLH L SRGGDQLH UHF\NOLQJRZL 
RGSDGyZ RSDNRZDQLRZ\FK

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
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SURZDG]HQLD G]LDáDOQRĞFL
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SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD VSU]HGDĪ  ]DNXS  RGELyU VXURZFD
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

^ƚƌŽŶĂ ϴ ǌ ϭϬ



   
.5,.(5 63Ïà.$ = 2*5$1,&=21Ą 
2'32:,('=,$/12ĝ&,Ą    ==2 *%     

    'DQLHO +DOLĪDN +' 7HFK    ==2 0'     

   
52660$11 683(50$5.(7< '52*(5<-1( 
32/6.$ 63Ïà.$  = 2*5$1,&=21Ą     ==2 *7          ==2 0'     

   
81,48( %' 63Ïà.$ = 2*5$1,&=21Ą 
2'32:,('=,$/12ĝ&,Ą     ==2 0'     

   
%,852 5$&+81.2:(  *5$ĩ<1$  *5$ĩ<1$ 
'5Ąĩ(.   ==2 *7     

    /. 32/$1' .8675$ 63Ïà.$ .20$1'<72:$
   ==2 *7     

   
35$&2:1,$ 3527(7<&=1$ 0$à*25=$7$ 
:à2'$5&=<. 3$='$1  &(1758 7(5$3,,     ==2 *%     

   
:,16 63Ïà.$ = 2*5$1,&=21Ą 
2'32:,('=,$/12ĝ&,Ą    ==2 */     

   
1(56(1 3/ 63Ïà.$ = 2*5$1,&=21Ą 
2'32:,('=,$/12ĝ&,Ą    *1 ==2     

    1(:.20 (.2 63Ïà.$ = 2*5$1,&=21Ą 
2'32:,('=,$/12ĝ&,Ą  8PRZD ] GQLD          

    6NOHS VSRĪ\ZF]R SU]HP\VáRZ\ 0DáJRU]DWD /XEDV    ==2 *1     

    6HEDVWLDQ %REROD    ==2 *+     

    /2'< :8-$ 0$5,$1$   .U]\V]WRI %DELDN    ==2 */     

    86à8*, 75$1632572:( 0$5=(1$ :ĉ./$5 8PRZD 75              

    /%HDXW\ /LGLD %XGQLN     ==2 0'     

    :63Ï/127$ 0,(6=.$1,2:$ 5<1(.   '<1Ï:

    6DUQLFND :HURQLND

   
)LUPD +DQGORZR   8VáXJRZR  3URGXNF\MQD 2SLRáD 
%URQLVáDZ    ==2 *+     

   
0$128 63Ïà.$ = 2*5$1,&=21Ą 
2'32:,('=,$/12ĝ&,Ą    ==2 *7     

   
)+8  $0(7<67  .$52/,1$ &,Ą*à2 *$%,1(7 
.260(72/2*,,    ==2 *%     

    3DUDGRZVNL 3DZHá

    6NOHS VSRĪ\ZF]R SU]HP\VáRZ\ %RĪHQD 'RPLQ    ==2 *'         *. ==2     

   
$6(2 5(&<./,1* 6<67(0 63Ïà.$ = 
2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą

    *0,1$ %à$ĩ2:$
  ==2 *%         ==2 *%       
   ==2 *%          ==2 *%       

   
=DNáDG 3URGXNF\MQR 8VáXJRZR 0HFKDQLF]Q\  7(&+   
720  7RPDV] =DZRUD    ==2 *+     

   
:$1$7 -$526à$: 86à8*2:2 +$1'/2:< 
=$.à$' %/$&+$56.2 /$.,(51,&=<

   ==2 *7     

   
=$.à$' 672/$56.2 7$3,&(56., $QGU]HM 
*áRGRZVNL    ==2 *+     

    )+ 63(.7580    ==2 *%     

    :$5=<:1,$. .OHPHQV %DáD    ==2 0'     

    8VáXJL )U\]MHUVNLH 'DQXWD -DPUy]    ==2 0'     

    2FKRWQLF]D 6WUDĪ 3RĪDUQD Z )XWRPLH    ==2 *%     

   
35=('6,ĉ%,2567:2 +$1'/2:2 86à8*2:( 
-$. -$1'$3 (852 (;3  -DQ .UDMHZVNL   ==2 *+     

    2&+271,&=$ 675$ĩ 32ĩ$51$ /8%(1,$   ==2 */     

    %$5 32'.$53$&., ,5(1$ 675=$à$    ==2 *1     

    3DUDILD 5]\PVNR .DWROLFND SZ  ĞZ  =RILL Z '\OąJRZHM    ==2 &0     

    8VáXJRZ\ =DNáDG 6WRODUVNL 5RPDQ 5]HĨQLN    ==2 *%     

    21<.6 .DUROLQD )DO    ==2 *%          ==2 0'     

    '$&+< /8.$ àXNDV] .XV]   ==2 *+     

    '5(:(; -DNXE .LHáEDVD    ==2 0'     

    )LUPD +DQGORZR 8VáXJRZD $JQLHV]ND 0RFKD    ==2 *'     

    7.. .RQVWUXNFMH 7RPDV] .RFyM    ==2 *%     

    6./(3 :,(/2%5$1ĩ2:<  52%27  -HU]\ 0DNDUVNL   ==2 0'     

    %26.$ '2/,1$ 6áDZRPLU 6XGRá    ==2 *+     
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD RGELyU RGSDGyZ FPHQWDUQ\FK
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

-HGQRUD]RZH LQG\ZLGXDOQH ]JáRV]HQLH XVáXJL WUDQVSRUWRZHM GR 
36=2.

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL  XPRZD QD VSU]HGD ] ZRUNyZ

=DPyZLHQLH QD SRGVWDZLH FRPLHVLĊF]QHJR RIHUWRZDQLD
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD WUDQVSRUW RGSDGyZ GR PLHMVFD ]DJRVSRGDURZDQLD
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL

-HGQRUD]RZD XVáXJD Z\SRVDĪHQLD QLHUXFKRPRĞFL Z SRMHPQLN
-HGQRUD]RZH LQG\ZLGXDOQH ]JáRV]HQLH XVáXJL WUDQVSRUWRZHM GR 

36=2.
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD RGQRĞQLH SRVWĊSRZDQLD ´ 2GELyU L ]DJRVSRGDURZDQLH 
RVDGyZ ĞFLHNRZ\FK SRFKRG]ąF\FK ] RF]\V]F]DOQL ĞFLHNyZ Z 

6LHGOLVNDFK *PLQD /XEHQLD Z     U ´
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL
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+$1'(/ 2%:2ħ1< 2:2&Ï: , :$5=<: $;(/ 
à8.$6= -$126=

    021(/ *U]HJRU] *áRGRZVNL

    3U]HGVLĊELRUVWZR :LHOREUDQĪRZH .DUROLQD 0LFKDáHN    ==2 *7     

    6DORQ )U\]MHUVNL (9(/,1( (ZHOLQD 'RPLĔF]\N

    2SDOLĔVND 0DULD

    :<52%< %(7212:( 0DWHXV] :RMGRQ    ==2 *,     

    .\F 5REHUW

    .DV]WHOHZLF] *UDĪ\QD

    ,1 3(67 = 8 + 3 XPRZD ]DZDUWD Z GQLX            

    (/()$17 38+ %DUDQ )UDQFLV]HN    ==2 *%     

    6SyáG]LHOQLD .yáHN 5ROQLF]\FK Z %áDĪRZHM    ==2 *%     

   
7(53/$67 =$.à$'< 35=(7:Ï567:$ 
7:25=<: 6=78&=1<&+ 63  = 2 2 

    0LHMVNL =DNáDG .RPXQDOQ\ 6S  ] R R  Z /HĪDMVNX XPRZD QU        ]DZDUWD Z GQLX           

    *35 *80$ , 3/$67,. 5(&<&/,1* 6S  ] R R  8PRZD            

    (NR*áRJ VS  ] R R  8PRZD QU   ==2      ] SyĨQLHMV]\PL ]PLDQDPL

   
3UH]]R 6SyáND ] RJUDQLF]RQą RGSRZLHG]LDOQRĞFLą VSyáND 
NRPDQG\WRZD    ==2 *%     

    (852 (.2 63 =2 2  8PRZD QU            

    25$1*( 32/6.$ 6 $  80              

   
$72/ 5(&<./,1* 63Ïà.$ = 2*5$1,&=21Ą 
2'32:,('=,$/12ĝ&,Ą

    .$&=0$56., ,1.$662 63 =2 2  8PRZD 3%       ] SyĨQLHMV]\PL ]PLDQDPL

    %,2 0(' 6S  ] R R 

    3(752-(7 63  = 2 2  21          

    (.2 67</ 5HQWDO 6S  ] R R 6S N  8PRZD ] GQLD            ] SyĨQLHMV]\PL ]PLDQDPL

    75$1635=ĉ7 6S  ] R R VS N  8PRZD QU                          

    232/75$16 63 =2 2 

   
(.20$; .278/$. -(5=< 352'8.&-$ +$1'(/ 
86à8*,  8PRZD            

    6,3(.2 *5283 63 =2 2  63  .20$1'<72:$ 8PRZD QU 30 %=3       

   
5(021',6 0(',621 5=(6=Ï: 63Ïà.$ = 
2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą

   
('= 63Ïà.$ = 2*5$1,&=21Ą 
2'32:,('=,$/12ĝ&,Ą

   
$8723$< 02%,/,7< 63Ïà.$ = 2*5$1,&=21Ą 
2'32:,('=,$/12ĝ&,Ą

   
'5 .5<67,$1 =,(06.,   3$571(56 
.$1&(/$5,$ 35$:1$ 63Ïà.$ .20$1'<72:$

   
+$0%85*(5 5(&<&/,1* 32/6.$ 63Ïà.$ = 
2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą

   
à8ĩ<&.,(  &(17580 5(&<./,1*8 63Ïà.$ = 
2*5$1,&=21Ą 2'32:,('=,$/12ĝ&,Ą 8PRZD QU            

   
(/252& 63Ïà.$ = 2*5$1,&=21Ą 
2'32:,('=,$/12ĝ&,Ą

=DPyZLHQLH QD SRGVWDZLH FRPLHVLĊF]QHJR RIHUWRZDQLD

8PRZD QD ]DJRVSRGDURZDQLH RGSDGyZ

=DPyZLHQLH QD SRGVWDZLH FRPLHVLĊF]QHJR RIHUWRZDQLD

8PRZD QD WUDQVSRUW

8PRZD QD ORNDOL]DFMĊ SRMHPQLND

2SáDWD ]D SU]HMD]G SR GURJDFK SáDWQ\FK ± DSOLNDFMD

8PRZD QD XVáXJL SUDZQH

3U]HWDUJ  Ä'RVWDZD ROHMX QDSĊGRZHJR QD SRWU]HE\ ZáDVQH GOD *.´

8PRZD R QDMHP L VHUZLV RG]LHĪ\ URERF]HM

3U]HWDUJ QD RGELyU L ]DJRVSRGDURZDQLH RGSDGyZ

=DNXS $'%/8(

8PRZD QD  ]DJRVSRGDURZDQLH RGSDGyZ

3U]HWDUJ QD ]DNXS ZRUNyZ QD RGSDG\

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

3U]HWDUJ QD RGELyU L ]DJRVSRGDURZDQLH RGSDGyZ

8PRZD QD XVáXJL WHOHNRPXQLNDF\MQH ± WHOHIRQ\ NRPyUNRZH

=DPyZLHQLH QD SRGVWDZLH FRPLHVLĊF]QHJR RIHUWRZDQLD

8PRZD QD XVáXJL ZLQG\NDF\MQH

8PRZD QD ]DJRVSRGDURZDQLH RGSDGyZ

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD ]DNXS V]QXUND GR SUDV\

8PRZD QD ]DJRVSRGDURZDQLH RGSDGyZ
8PRZD QD RGELyU L ]DJRVSRGDURZDQLH RGSDGyZ R NRG]LH        

3U]HWDUJ

8PRZD QD WUDQVSRUW L ]DJRVSRGDURZDQLH RGSDGyZ

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

-HGQRUD]RZH LQG\ZLGXDOQH ]JáRV]HQLH XVáXJL WUDQVSRUWRZHM GR 
36=2.

-HGQRUD]RZH LQG\ZLGXDOQH ]JáRV]HQLH XVáXJL WUDQVSRUWRZHM GR 
36=2.

8PRZD QD PRQLWRULQJ GH]\QVHNF\MQR GHUDW\]DF\MQ\
8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 

SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

8PRZD QD Z\Zy] RGSDGyZ NRPXQDOQ\FK Z\WZRU]RQ\FK Z Z\QLNX 
SURZDG]HQLD G]LDáDOQRĞFL

-HGQRUD]RZH LQG\ZLGXDOQH ]JáRV]HQLH XVáXJL WUDQVSRUWRZHM GR 
36=2.

^ƚƌŽŶĂ ϭϬ ǌ ϭϬ
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3UH]\GHQW 0LDVWD 5]HV]RZD
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P 53          

%XUPLVWU] 6ĊG]LV]RZD 0DáRSROVNLHJR
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P 62L2             '/

:yMW *PLQ\ 0DUNRZD
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P            

:yMW *PLQ\ 1R]GU]HF
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P  

:yMW *PLQ\ 1LHE\OHF
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P       

%XUPLVWU] 0LDVWD L *PLQ\ 'XELHFNR
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P   

:yMW *PLQ\ àDĔFXW
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P       

%XUPLVWU] 0LDVWD àDĔFXWD
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P       

:yMW *PLQ\ 'RPDUDG]
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P '*L*/            

%XUPLVWU] *áRJRZD 0DáRSROVNLHJR 
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P        

:yMW *PLQ\ ']LNRZLHF
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P     

:yMW *PLQ\ &PRODV
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P / **5 ,,            

:yMW *PLQ\ &]XGHF
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P 2ĝ 2.       

:yMW *PLQ\ -DZRUQLN 3ROVNL
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P  

:yMW *PLQ\ -DVLHQLFD 5RVLHOQD
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P **       

:yMW *PLQ\ .UDVQH
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P        

:yMW *PLQ\ &KPLHOQLN
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P 26            

%XUPLVWU] 0LDVWD '\QyZ
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P       

%XUPLVWU] %RJXFKZDá\ 
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P 5'5            

:yMW *PLQ\ ,ZLHU]\FH
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P       

:yMW *PLQ\ +\ĪQH
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P       

:yMW *PLQ\ /XEHQLD
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P       

:yMW *PLQ\ '\QyZ
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P       

6WDURVWD 5]HV]RZVNL =DĞZLDGF]HQLH GOD SU]HZR]yZ GURJRZ\FK QD SRWU]HE\ ZáDVQH
0DUV]DáHN :RMHZyG]WZD 3RGNDUSDFNLHJR 'HF\]MD 26 ,,,              63   ]ELHUDQLH L SU]HWZDU]DQLH RGSDGyZ

%XUPLVWU] %áDĪRZHM 
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P        

=DáąF]QLN QXPHU    GR SODQX SRG]LDáX VSyáNL
*RVSRGDUND .RPXQDOQD Z %áDĪRZHM VSyáND ] RJUDQLF]RQą RGSRZLHG]LDOQRĞFLą

35$:$ , 2%2:,Ą=., 38%/,&=21235$:1(  Z W\P GHF\]MH DGPLQLVWUDF\MQH  ]H]ZROHQLD   35=<3,6$1( =&3 ==2L7

RUJDQ QD]ZD RSLV

:yMW *PLQ\ ĝZLOF]D
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P       

%XUPLVWU] 7\F]\QD 
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P       

:yMW *PLQ\ 7U]HERZQLVNR
:SLV GR UHMHVWUX G]LDáDOQRĞFL UHJXORZDQHM Z ]DNUHVLH RGELHUDQLD RGSDGyZ NRPXQDOQ\FK RG ZáDĞFLFLHOL 
QLHUXFKRPRĞFL SRG QXPHUHP UHMHVWURZ\P  

6WDURVWD 5]HV]RZVNL 'HF\]MD QU               ] GQLD    F]HUZFD      U   SR]ZROHQLH QD EXGRZĊ 

*áyZQ\ ,QVSHNWRU 2FKURQ\ ĝURGRZLVND 'HF\]MD QU '.5    (       MV
0DUV]DáHN :RMHZyG]WZD 3RGNDUSDFNLHJR %'2 Z ]DNUHVLH =&3 ==2L7
6WDURVWD 5]HV]RZVNL 'HF\]MD QU                ] GQLD    ZU]HĞQLD      U   SR]ZROHQLH QD EXGRZĊ 
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